SVEDBERGS

=

s> eB

Tiny




Pos. | Ant/Qty Titel / Title Art.No.
1 1 Blandarhandtag / Mixer handle
2 1 Plastplugg / Plastic stopper
3 1 Téckring tatningssats / Cover cartridge
4 1 Fastmutter tatningssats / Cartridge fixing nut
5 1 Keramisk tétning / Ceramic cartridge 98823
6 1 Omkastare / Diverter
7 1 Basplatta / Base
8 2 Gummitétning 18x10,5x3 / Rubber packing 18x10x3
9 1 Gummipackning 40x27x2 / Rubber packing 40x27x2
10 1 Blandarhus Tiny / Mixer body Tiny
11 2 Anslutningsslang G% / Connection hose G%
12 2 Duschslang G2 (R15) L:150 / Shower hose G2 (R15) L:150 98848
13 2 Fastsattningsbult M5x65 / Connection bolt M5x65
14 2 Bricka 10x5,5x1 / Washer 10x5,5x1
15 2 Anslutningsmutter / Connections nut
16 1 Insexskruv M5x8 / Inox screw M5x8
17 1 Téackhatt / Cover nut
18 1 Duschhandtag / Shower handle 98820
19 1 Téckhylsa tiatningssats / Cover cartridge
20 1 Fixeringsset / Fixing set
21 1 Gummipackning 60x46x2 / Rubber packing 60x46x2
22 2 Séte / Seat
23 2 Backventil / Non return valve
24 2 Gummipckning 18x12x2 / Rubber packing 18x12x2
25 1 Plastplugg kall / Plastic plug cold
26 1 Plastplugg varm / Plastic plug hot

= SVEDBERGS

| 2010-06-15 |
2)




